
250 DUKE, orange - B.D. 2024 <2024><EU><F4203X1>
MASK, FENDERS

68449

Pos Part Number Description Additional Text Quantity

1 96308010100BK FR. FENDER ASSLY D-400 MY23 LI 1.00

2 J031050161 Panhead screw with shoulder 4.00

3 93009059000 Washer nylon 4.00

4 90108050001 CLIP NUT M5 1.00

5 96308975000 Protection 1.00

6 96208975020 PLATE 1.00

7 96308975010 PLATE 1.00

10 96308019000 Undertray 1.00

11 93003077000 Clip nut M6 2.00

12 J900000601501 screw socket step M6x1 6.00

13 J650002502000 grommet undertray 2.00

14 93011093010 Cable tie, fastening base 1.00

15 96308015020 License plate holder support r 1.00

16 96308015010 License plate holder support l 1.00

17 J900000601405 bolt flanged M6x1 4.00

18 J650002902100 grommet license plate holder 1.00

19 96308015030 plug 4.00

20 J900000501603 lens head screw M5x16 9.00

21 93008020060 Screw M6X1X9 2.00


